© Copyright 2001 Appian Consulting Engineers, P.A.

These drawings have been prepared as instruments of service for a particular site or building improvement and remains the property of the Engineer for use under his supervision.

No reproduction or other use is allowed without his permission.

REVISIONS
DESCRIPTION

DRAWN BY:

DATE:

AS NOTED
AS NOTED

HOR. SCALE
VER. SCALE:

wwiaww

(] [w] [w] [ss]
' 4

CONSULTING ENGINEERS, P.A.
CIVIL, MUNICIPAL &
STRUCTURAL ENGINEERS
COMPREHENSIVE
ENVIRONMENTAL SERVICES

154 Roundabout Ct.
Rocky Mount, N.C. 27804
Phone: (252) 972-7703

Fax: (252) 972-7638

www.appianengineers.com
admin@appianengineers.com

A | mn
100\ EX. BLEACHERS SEAT BEARING 107\LVL's at BEARING 7102\ NOTCHING LVL's - 1" NOTCH
ir 1 T
) ) 3 4 FILL BETWEEN 2x6 & DECKING WITH SOLID K_/
SLOPE DN 1/4" 2" PRECAST SLAB EX. CORRUGATED DECKING — / RIPPED TIMBER (P.T. BLOCKING & N.S.
EX. CORRUGATED DECKING — ,,"’ 5/8" DIA. BOLT \ \\ / GROUT. N.S. GROUT IN FILL = 4"W @ 24" OXC) co G 4"
' \ / \ EX. CORRUGATED
N ANGLE IS BENT UP SOME SPANS DECKING WITH WWF— N.S. GROUT IN FILL @ 24" O/C—
ANGLE IS BENT UP SOME SPANS NI\
154 FELT PAPER (OPTIONAL) N
=
~——EX. 13/4x 13/4x1/4 ANGLE @ 4'-0" O/C *—P.T.2x6 — o~ o~
C“%lﬁ“ H - —
- /‘ ]
ﬁ;)ufgwi 12?%?; LV/ 84 NilE O (2) ROWS 16d GALV.—=O @) O
@ e (3) 13/4x 9 1/2 LVL's SET PLUMB NAILS @ 12" O/C
\ \ (SOME KICK PLATES LEAN OUT) o~ o~
L. 4 LooJ
< X I H ‘ﬁ %_ (3)13/4x91/2 LVL'SJ & “
| ~ C — " S
— PLATE BENDS DOWN (FULL SPAN) o 2" MIN. BEARING— PACK N.S. GROUT
/  FORBOLTING TO W14 y 3 . FOR BEARING
N.S. GROUT AT O O O | (o O
SUPPORT. MIN. 2"
\ BRG. FOR ALL LVL's A
7" g 155
_: y A \‘\ "
(2) 5/8" DIA. BOLTS— 4 \\ 5/8" DIA. BOLT
e EX. 3/8" CLIP ANGLE
o Ny, ¥ EX W14x34
X34 &y
¢ TWig '
X3¢ ) C (3)13/4x91/2 LVL'SJ /
2" MIN. BEARINGj
2"
<
>1"NOTCH—¢ _—
1 '
' NOTCHING LVL's
WHEN NOTCH IS >1"
SCALE: 3" = 1'-0"
3" N.S. GROUT PACKED
| | (4"WIDE)AT24"0/C 0 e e e 4— — <
\
~— EX 12C x20.7 |
AN Fas Fas Fas Fas N A <
| ] +—1" MAX. | J - - - 5\3\33 1 [ 4 |
% N EX 134x134— 15# FELT PAPER & 4 5 :
b © = /~ X 1/4 ANGLE PT.2x6SOLDBLKG Ny T o |
- =1 Y aaE gapnnl vy N BETWEEN ANGLES & ENDS § \
J \r s TS T TR L (3)13/4x91/2 LVL's § \ :
X - = / (2) 5/8" x 5" GALV. LAG BOLTS (2) ROWS 16d GALV. /l § @ *
® == 3/4" DIA. HOLE NAILS @ 12" O/C 38 T | EX LATER DATE PRECAST
- = IN ANGLE 43| & A | CONC SEAT SECTION
|||=||||| : ’/—ﬁ— \H ; N é \ <7 |
1 3 | (3) 13/4x91/2LVL's \ N \ | 21/2"x 2" x 3/16" x 6" @ 24" OIC
1 - _E bl HE N H R EXISTING ] 6 | L WELDED TO EX 3 1/2" x 3 1/2" x 1/4"L
E HTNER TN ] EXISTING BENT EX ANGLE
: i i o 7105\ LVL with LINTEL PLATE -] ||| — P (LONG LEG HORZONTA
l L] B A | f’l |
= LQn _ 41 An ~ EX CONC
N B | Q _Sy SCALE: 3" =10 | Hh / J 4x4x1/4" PL WELDED J\ \, R Ly A S e
< | : | v N TO BOTTOM OF 12" "
| lr (3)13/4x91/2LVL's SECTION B-B | e A CEE @ 24" OIC — 555 Ao W\h\L-—3;4" | 4 ) 7 ¢
= — TTEEH ;}’ —“};i—ﬁ— %— TOP VIEW 3"x 10" x 1/2" PLATE 5/8" x 3" GALV. LAG [(IT] T — ! 4" —! \4 4 [}SQ\_\V" 5 ~ T *‘
1 = AT f -24"0IC BOLT @ 24" O/C \_ \
1 3 ! %, "% 10" " " ¥
= ® N NHT & (15/32" PILOT HOLE) 3" x 10" x 1/2" PLATE - 24" O/C 3/16 | ﬂ \ | EX STEEL SHORING (PRE 2011) BY OTHERS
~ / x X = - (ONE TO ALIGN APPROXIMATELY L/ \  EX SEVERELY CORRODED ANGLE
— N—— — — — — — — — : e 5/8" x 6" GALV. LAG BOLT @ 24" O/C WITH EACH ANGLE BRACE) u .
® Q> — " |
X o) 7108\ EX. 12" CEE OVER ACCESS o
s — |
(2) 5/8" x 5" GALV. LAG | . & 72 = N S1]S2 SCALE: 3" =1'-0" ' ' SPALLED CONC DUE TO FASTENER
" ¢ C " | |
BOLTS WITH 15/32" PILOT HOLE iy X20, 9 ” 3/47 DIA. HOLE | | CORROSION/ EXPANSION FORCES
43/8" PLAN VIEW OF | :-— EX 2 3/4" 0.D. POST
7103\ SHORT SPAN LVL ATTACHMENT WELD EAVERT LEG)
S1|S2
312/ TO C12 x 20.7
no— A4 AN - ,_M,,
SCALE: 3"=1-0 #12-24 x 1 1/2" SDST SCREW ﬁli?; {,‘VL;EESS ST SCREWWITH
WITH PLATE WASHER OR 1/4" 1 /0"
N\ ANGLE - 48" O/C. PREDRILL
/ ' / v/ ANGLE WITH (1) 3/8" DIA. HOLE 108 SHORING FAILED CLIP ANGLE
DD —— NN I EgvA) LD EE NN AN — . s1]s2 SCALE: 3" = 1'-0"
T T T T || < : A b 7 3 \J
i L[| [Frptd Hnaiionni oy T 7™ iy i (~ EX.13/4x13/4— NIA L/ / L%J _
G i { St /-~ x 1/4 ANGLE RN @ / /\£ ’» o —— — 3
3 4 = +
HEAD STAMP < 11/4"W x 2 1/4"LG x 1/4" PLATE - EXCONC - < T
CRIMP & DRILLENDS OF  / . NN P | | =
PIPE BRACE - DRILL HOLE 1 M S |
BOTH ENDS 3/8" DIA. \ 11 3x3x1/4" \x 1/8" T T
j a | e Wl Unay i nii il li NG Al L 1" DIA. SCH40 PIPE BRACE GALV. AT ; ANGLE | |
il il LT | il I I EA. EXISTING 1 3/4" ANGLE (4'-0" O/C %) \ o (3)13/4x91/2LVL's : H APPLY RAIN & ICE SHIELD
N
Assembly A Assembly B1 Assembly B2 Assembly C Assembly D Assembly E Assembly F ) 5/8" x 5" GALV. LAG @ 4'-0" PEEL & STICK TO ISOLATE
N @ | 1 ALUM FROM STEEL
(2) 1 3/4" LVL's (3) 1 3/4"LVL's (3) 1 3/4" LVL's (4)13/4"LVL's (1) 13/4", (1)31/2"LVL's  (2)13/4", (1)31/2"LVL's  (2) 3 1/2"LVL's S / (15/32" DIA. PILOT HOLE) | |
1/4x31/2"SDS  1/4x 3 1/2" SDS 1/4 x 4 1/2" SDS 1/4 x 6" SDS 1/4 x 3 1/2" SDS 1/4 x 3 1/2" SDS 1/4 x 6" SDS CRmun s neaban hedll ~ | - (1) #12-24 x 1 1/4" SDST
— i S } Wi SCREW W/ WEATHER SEAL.
N —
: . : . = - HSS 4" x 2 1/2" x 1/8" TS ———H STAGGER SPACED AT 12" O/C
— < N N N
x Model ] T | HeadStamp ) Assembing Multiple Plies of LVL Timber 104\ LVL BRACING - A S ————— ] ~— SEVERELY CORRODEDEX
L 0 (To achieve maximum transition of loads between plies): - L — (2) #12-24 x 1 1/4" SDST ; STEEL KICK BOARD / PLATE - &
- 1/4 x 3 1/2 SDS 31/2" 2 1/4" S3.5 plES). Q y SCALE: 3" = 1-0" %J B SCREWS EX 3x3 UF’R'GHT: : | TBR SAW ORTORCHCUT. &
1/4 x 4 1/2 SDS 41/2 2 3/ S4.5 1. Fastener Spaculg: _ | _ _ | I ~—— 12"w-1/8" ALUM DIAMOND PL
\_ 1/4x6SDS 6" 3 1/4" S6 ) a. Beems <or=to14 |nc"hes. Fasten multiple members with 2 rows of ) KICKBOARD DULL FINISH
1/4" SDS screws at 12" o/c. 3% 3 x 1/4" o 1/4" DIA. GALV. THRU BOLT WITH | || ————————————— ——————— = i — — = — — — — — STTS
b. Beams 16" and deeper: Fasten multiple members with 3 rows of Al}:IGLXE NUT AND WASHER | 112508 ||, o < v o EX CONC 4 wd |
1/4" SDS screws at 12" o/c. A\\visms & | I | ~ < P N
" A - I [— R Y [ — E——
@ASSEM BLIES A F SHOW 2. Minimum Edge and End Distances for 1/4" SDS fasteners (Wide Face) 3/8" DIA. HOLE n A N | 1 H— | ) | —:|
- - a. End distance: 4" 3/4" DIA. HOLE N - | 1 Q
. ; X " = EX 3 1/2" x 3 1/2" x 1/4"L
\A/LAMINATED VENEER LUMBER (LVL) < spacirgpaaieitogr orsmen e Vg s ; <
( ) c. Spacing parallel to grain: 4" - " il | L il
d. SaC|n er endICu|aI'tO I‘ain:2" - :_____::_______I_____.Il::_______:____::____:__:________:::__:___q
NOT TO SCALE DATE: 4-8-16 pacing perp 9 SECTION A-A \ | I |
Details Developed By APPIAN Consulting Engineers 3. Fastener Length: See schematic above (ref Simpson Strong Tie): N \_ L N
______ e e e
\ A &
RECORD DRAWINGS: | VERIFY A MIN OF 3/16" WELD x 3 -

1 1/2"MIN.4-—‘ —-—

Assembly A Assembly B

—r—

Assembly C

Assembly D

(5-32\ASSEMBLYING PLYS OF

\B_/sSOLID SAWN LUMBER

NOT TO SCALE

DATE: 7-31-18

Details Developed By APPIAN Consulting Engineers

FASTENING SPACING
1. 2 PLY BEAMS:

a. 2 ROWS OF 10D (0.148"@) x 3" HDG NAILS

2. 3-PLY OR GREATER BEAMS:

a. 2 ROWS OF 16D (0.162"@) x 3 1/2" HDG NAILS
3. IF BEAM IS PRESSURE TREATED, USE STAINLESS STEEL NAILS!

4. CENTER TO CENTER LONGITUDINAL C/L SPACING =

16" O/C STAGGER SPACED

MINIMUM EDGE DISTANCE

a. END EDGE DISTANCE = 4"
b. EDGE DISTANCE =1 1/2"

These drawings are believed to be a correct
representation of actual field conditions but
are not warranted as such.

By: Date:

CONSTRUCTION SAFETY

These drawings do not contain the requirements for

job safety. All provisions for safety shall be
responsibility of the contractor.

EXISTING CONDITIONS:

The contractor shall be responsible for revie
existing job conditions.

the sole

wing all

Any adverse existing conditions

affecting work shown on these drawings shall be

brought to the attention of the engineer for
clarification or reconciliation.

ADA AND LEGAL DISCLAIMER

possible

This document is not represented to comply with all
requirements contained in the ADA or other laws.

Engineers are not licensed to interpret laws

or give

advice concerning laws, the owner should have this
document reviewed by his attorney to determine

legal compliance.

1/2" LG EXISTS ON BOTH SIDES
PIPE - ALL SECTIONS LIKE THIS

EX 2 3/4" O.D. PIPE COL - 7'-2"+ O.C.

ium

- EX/J‘CONC -

e e

vd

<7

k]

1'-10 3/4"

4 3/4"

IT STEEL CHASSIS

N

7107\ EX RETROF

SCALE: 3" =1"0"
(EAST END SECTION 101, ROW E)

7))
—
<(
-
L
-
<
o
-
O
-
o
-
2
<
O
O

Flemming Stad
Wilson, N.C.

\\DROBO5N2\Shared_Folder\Appian Projects — Shared Folder\10121—flemming—stadium\10121—flemming—S1.dwg <E—SIZE — 8 (2)> 04/18/2022 — 11:28:25 AM




